## **BID SUMMARY** May 2, 2011

## 1. No. CC050211-02.1 - 2011 Miscellaneous Improvement Project, Project No. MIP11-1923 / CIP No. 50298 (Opened on April 26, 2011)

ADVERTISING AUTHORITY ENGINEER'S ESTIMATE	\$100,000.00 \$90,000.00
<ol> <li>DHD Construction Inc.*</li> <li>Hills Materials Company**</li> <li>Simon Contractors of SD, Inc.**</li> </ol>	Base Bid \$106,198.88 \$107,954.67 \$109,078.50

<sup>\*</sup> Cashier's Check, Money Order or Bank Draft Submitted \*\* Bid Bond Submitted

## 2. No. CC050211-02.2 - Cambell Street Reinforced Box Culvert, Project No. DR10-1909 / CIP No. 50020 (Opened on April 26, 2011)

ADVERTISING AUTHORITY ENGINEER'S ESTIMATE	\$1,700,000.00 \$1,730,000.00
<ol> <li>Heavy Constructors, Inc. **</li> <li>Mainline Contracting, Inc. **</li> <li>R.C.S Construction, Inc. **</li> <li>Quinn Construction, Inc. **</li> <li>Simon Contractors of SD, Inc. **</li> </ol>	Base Bid \$1,785,072.12 \$1,832,919.80 \$1,898,705.71 \$2,027,737.40 \$2,098,842.20

<sup>\*</sup> Cashier's Check, Money Order or Bank Draft Submitted

<sup>\*\*</sup> Bid Bond Submitted

# **BID AWARD SUMMARY**

LETTING DATE: April 26, 2011

**PROJECT:** 2011 Miscellaneous Improvements Project

Project No. MIP11-1923 / CIP No. 50298

RECOMMENDATION: Award Total Bid in the amount of \$106,198.88 to DHD Construction, Inc. at the May 02, 2011 Council Meeting.

### **BIDDER'S SUMMARY**

<u>Bidder</u>	Base Bid
DHD Construction, Inc.	\$106,198.88
Hills Materials Company	\$107,954.67
Simon Contractors of SD, Inc.	\$109,078.50

City staff recommends awarding this project to DHD Construction, Inc. for a total bid amount of \$106,198.88 based on unit pricing with the following appropriation:

**FUNDING SOURCE ADVERTISING AUTHORITY** 

**ENGINEER'S ESTIMATE** 

TOTAL	MIP
\$100,000.00	\$100,000.00
\$90,000.00	

**APPROPRIATION DATA:** 

**FUNDING SOURCE** 

**COST CENTER** 

LINE ITEM

**FUNDING CENTER** 

**BID AMOUNT** 

a the state of the state	
TOTAL	MIP
	4370
	8913
	0505
\$106,198.88	\$106,198.88

PROJECT MANAGER:

DATE: 4/28/2011

This will be a Partial Payment/Non - Assessed Project. Payments will be made once each month as the work progresses and per the Standard Specifications Section 7.59.

# SITE SPECIFIC DETAILS SITES INCLUDED IN MISCELLANEOUS IMPROVEMENTS PROJECT MIP11-1923

NOTE: The site number corresponds with numbers found on the various site location maps.

SITE NUMBER		WORK COMMENTS/REQUIREMENTS								
Ame	exis exis gutte	EY FROM ST. FRANCIS TO ST. ANNE, 7 <sup>TH</sup> TO MT. RUSHMORE. RD: Mill ting asphalt (2" depth) to create inverted crown. Place 2" asphalt overlay. Remove ting curb & gutter and approach pavement, replace with new reinforced curb & er and reinforced approach per standard detail.								
2.	STF over conf	ALLEY FROM FRANKLIN TO ST. CHARLES, MT. RUSHMORE RD. TO 7 <sup>TH</sup> STREET: Mill existing asphalt (3" depth) to create inverted crown. Place 3" asphalt overlay. Remove and replace reinforced concrete approach and sidewalk. If a traffic control is necessary on Mt. Rushmore Road, the contractor must coordinate with the Rapid City Area D.O.T. Engineers office.								
3.	the & at	NCY STREET @ 11 <sup>TH</sup> INTERSECTION: Remove asphalt pavement as marked in field. Install reinforced concrete pan and fillets. Remove and replace additional curbuitter adjacent to fillets. This work does not require the installation of ADA ramps to existing sidewalk locations in this neighborhood.								
4.	mar	LOWBEND ROAD EAST OF MARLIN DRIVE: Remove asphalt pavement as ked in the field. Repair subgrade by digout and replacement of base course as ded. Replace asphalt pavement per city specifications.								
5.	mar adju	1 WILLOWBEND ROAD: Remove sidewalk as marked in the field. Adjust existing whole (frame & grate supplied by utility maintenance). Install sidewalk after manhole usted to correct grade. Return existing frame & grate to the Rapid City Utility Intenance division.								
6.	120	1 & 1202 RACINE STREET: Remove and replace sidewalk that is holding water, marked in the field. Confirm the final installation of sidewalk will drain properly.								
7.	pav add side	ST OMAHA BETWEEN 38 <sup>TH</sup> STREET AND NORDBY LANE: Remove asphalt ement as marked and construct reinforced concrete pan. Remove and replace itional curb & gutter and construct fillets per attached detailed drawing. Install new ewalk with ADA access ramp at the location shown, per City of Rapid City standard e 61-5.								

8. WESTRIDGE ROAD, PARK DRIVE TO MEADOWBROOK DRIVE: Remove & replace sidewalk and curb & gutter damaged by previous utility work. Removal limits marked in the field.

9. SHERIDAN LAKE ROAD MEDIAN ISLAND: Remove sidewalk damaged by previous utility work. Replace sidewalk as indicated in the field.

Note: Any new construction that receives vandalism or damage will be replaced at the contractor's expense. PROTECT YOUR WORK.

PW041211-19

PROJECT NAME: 2011 MISCELLANEOUS IMPROVEMENTS PROJECT

PROJECT NUMBER: PROJECT NO. MIP11-1923 / CIP NO. 50298

**LET DATE: APRIL 26, 2011** 

LOW BID AMOUNT: \$106,198.88

				ENGINEER'	S ESTIMATE	DHD CONST	RUCTION INC	HILLS MATERIALS COMPANY		SIMON CONTRACTORS O SD INC	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	MOBILIZATION	LS	1.00	\$7,500.00	\$7,500.00	\$4,050.00	\$4,050.00	\$10,500.00	\$10,500.00	\$4,500.00	\$4,500.00
2	SAW & REMOVE ASPHALT PAVEMENT	SY	332.00	\$18.00	\$5,976.00	\$24.75	\$8,217.00	\$9.59	\$3,183.88	\$15.00	\$4,980.00
3	REMOVE CURB & GUTTER	. LF	250.00	\$12.50	\$3,125.00	\$12.25	\$3,062.50	\$10.40	\$2,600.00	\$10.00	\$2,500.00
4	REMOVE SIDEWALK	SF	1,395.00	\$2.75	\$3,836.25	\$2.20	\$3,069.00	\$2.83	\$3,947.85	\$2.00	\$2,790.00
5	REMOVE CONCRETE APPROACH	SY	30.50	\$25.00	\$762.50	\$24.75	\$754.88	\$41.07	\$1,252.64	\$26.00	\$793.00
6	ASPHALT MILLING	SY	770.00	\$3.50	\$2,695.00	\$4.18	\$3,218.60	\$9.09	\$6,999.30	\$9.00	\$6,930.00
7	INSTALL CONCRETE SIDEWALK	SF	1,160.00	\$6.00	\$6,960.00	\$4.95	\$5,742.00	\$7.50	\$8,700.00	\$5.50	\$6,380.00
8	CURB AND GUTTER	LF	228.00	\$27.50	\$6,270.00	\$27.50	\$6,270.00	\$32.00	\$7,296.00	\$30.00	\$6,840.00
9	INSTALL CONCRETE FILLET	SY	58.00	\$110.00	<b>\$6,</b> 380.00	\$66.00	\$3,828.00	\$85.00	\$4,930.00	\$100.00	\$5,800.00
10	REINFORCED CONC. SIDEWALK	SF	180.00	\$12.00	\$2,160.00	\$5.50	\$990.00	\$8.75	\$1,575.00	\$10.00	\$1,800.00
11	REINFORCED CONC. APPROACH	SY	30.50	\$100.00	\$3,050.00	\$60.00	\$1,830.00	\$92.00	\$2,806.00	\$85.00	\$2,592.50
12	REINFORCED CONC. PAN	ŞY	58.00	\$95.00	\$5,510.00	\$60.00	\$3 <b>,</b> 480.00	\$72.00	\$4,176.00	\$79.00	\$4,582.00
13	DIGOUTS W/ TYPE 3 MATERIAL	CY	18.00	\$100.00	\$1,800.00	\$70.00	\$1,260.00	\$51.00	\$918.00	\$80.00	\$1,440.00

	PAGE COURSE					:		:			
14	BASE COURSE	TN	87.00	\$25.00	\$2,175.00	\$18.70	\$1,626.90	\$40.00	\$3,480.00	\$53.00	\$4,611.00
15	ASPHALT PAVEMENT (PG 58-28)	TN.	180.00	\$112.50	\$20,250.00	\$180.00	\$32,400.00	\$120.00	\$21,600.00	\$148.00	\$26,640.00
16	TYPE 'B' ADVANCE ARROW PANEL	EA	2.00	\$500.00	\$1,000.00	\$110.00	\$220.00	\$1,600.00	\$3,200.00	\$1,650.00	\$3,300.00
17	ADJUST MANHOLE FRAME & GRATE	EA	2.00	\$500.00	\$1,000.00	\$220.00	\$440.00	\$375.00	\$750.00	\$150.00	\$300.00
18	TRAFFIC CONTROL	LS	1.00	\$5,000.00	\$5,000.00	\$15,300.00	\$15,300.00	\$11,000.00	\$11,000.00	\$14,000.00	\$14,000.00
19	INCIDENTAL	LS	1.00	\$3,500.00	\$3,500.00	\$8,600.00	\$8,600.00	\$7,750.00	\$7,750.00	\$6,000.00	\$6,000.00
20	EROSION WATTLES	LF	100.00	\$3.00	\$300.00	\$4.00	\$400.00	\$6.50	\$650.00	\$9.00	\$900.00
21	OUTLET/ INLET PROTECTION	EA	8.00	\$50.00	\$400.00	\$180.00	\$1,440.00	\$80.00	\$640.00	\$175.00	\$1,400.00
	TOTAL				\$89,649.75		\$106,198.88		\$107,954.67		\$109,078.50

#### CITY OF RAPID CITY

Reviewed by:

Paul Faiman

Date